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WEST BENGAL STATE UNIVERSITY 
B.Com. Programme 2nd Semester Examination, 2019 

LIBRARY 

FACGCORO4T-B.CoM. (DSC4) 

BusINESS MATHEMATICS AND STATISTICs 
Time Allotted: 2 Hours 

Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

AN symbols are of usual significance. 

GROUP-A 

1. Answer any five questions from the following: 2x5 10 

2-3 1 
(a) Consider the matrix A=|1 3 4 4, find the cofactor of a21 and a3 

3 
-3 1 

ACA Ts sis Ri A =|1 3 

(b) In what time will a sum of money double itself at 7% p.a. compound interest? 

(c)If A-B={3,5, 7}, 4-C={3,4,6 then find 4-(BuC) and 4-(Bnc). 
R A-B ={3,5,7), A-C={3,4,6} 4-(BUC) R A-(Bnc) 
PCATI 

(d) Find when y= 

dt 

(e) Find (ArA t:) 

3a-4x+7 lim 
x2 3x-5 
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() For a distribution mean = Rs. 22, median = Rs. 20 then find the value of mode. 

41 9TA Y = Rs. 22, = Rs. 20IA RUIUF ATA A I 

() If Sx-2y-4 0 and 4x-7y+13= 0 be two regression equations then nd 

and y 
a 5x-2y-4 = 0 4 4x-7y+13 =0 T efe HTCaY T 3 O I 3 

(h) If the geometric mean of a, 4, 8 be 6, find the value of a. 

z a, 4, 8 97 TsA sT 6 RBA a 9A AfAr SA 

GROUP-B 

5x4 20 Answer any four questions from the following 

5 2. Solve by matrix method: (JiiN aor 7ATA A) 
x+y+2z = 4, 2x-y+3z = 9, 3x-y-z = 0 

5 3. Show that: (P13 ) 

|1+a 1 

1 1+b 1 = 

1 1+c 

A fim producesx tones of output at a total cost of Rs. R where 

R- 52+ 10x+5. 
At what level of output will the marginal cost and the average variable cost attain 
their respective minimum. 

9P0 atR TT 15 FTx DAUeiTA PEA TiA R = -5x+10x+5. 

5. Calculate the median from the following data: 

Weight (kg) 36-40 41-45 46-50 51-55 | 56-60 61-65 66-70 

No. of students 15 27 |41 54 51 38 26 
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6. Age at death of 50 persons of a town are given below: 3+2 

49 51 46 50| 32 51 49 
|41 4042 4846 

39 40 38 41 33 53 57 32 55 37 

52 47 42 56 59 32 43 54 3345 

$4 3761 6042 54 59 37 

36 44 43 

38 33 40 44 48 

39 60 

(a) Arrange the data in a frequency distribution in 10 class intervals. 

(b) Obtain the less-than type cumulative frequency. 

. Find the standard deviation of the following frequency distribution: 

Marks 20-29 30-39 40-49 50-59 60-69 70-79 80-89 

No. of Students5 15 18 26 16 14 6 

GROUP-C 

fAstM-1 
10x2 20 Answer any two questions from the following 

6+4 
8. The mode of the following distribution is Rs. 6. Find the missing frequency. 

Daily Wages (Rs.) 30-40 40-50 50-60 60-70 70-80 80-90 

No. of Workers 8 16 22 28 ?12 
Find also median of it. (4TAT N PT) 

A 9. (a) Find where y= loge* +1). 

Af z y = logl+1) 
dx 

3+3 (6) Calculate the A.M and the mean deviation from the following data: 

Marks obtained 20-29 30-39 40-49 50-59 60-69 70-79 

No. of Students 5 11 18 22 16 8 
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4+4+2 10. From the following data find the two regression equations: 

2 4 5 

2 3 5 4 
Predict the value of y when x =2.5. 

y 4 59A PA TR x = 2.5. 

8+2 11. Fit a straight line to the following data by the method of least square. 

2002 2003 2004 2005 2006 2007 2008 

Production (ton) 76 87 95 81 91 96 90 
Year 

Hence predict the production in 2009. 
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